Compound Microscope

1. An object is placed on the axis and 3.6 cm from a thin converging lens of focal length 3.0 cm. A second thin converging lens of focal length 16 cm is placed co-axial with the first and 26 cm from it and on the side remote from the object. Find the final image position and the angular magnification.

Why is this not a suitable arrangement for an observer with normal eyesight?

For an observer with normal eyesight, where should the second lens be placed with respect to the first?

2. An object is placed 5.0 cm in front of a converging lens of focal length 4.0 cm. A second converging lens is placed 27 cm from the first on the side remote from the object so as to form a final virtual image at the least distance of distinct vision in the normal eye. Find the focal length of the eyepiece lens and find the angular magnification of the compound microscope.

